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"~ RAMANUIAN MATHEMATICS CLUB, SALUR |
8t MATHEMATICS TALENT TEST - 2008
X CLASS (Upto November Syllabus)
. Date : 07-12-2007
L NaAME | e Max. Marks : 50
SCROOL: (e Time : 9am. - 10 am,
AmSHeD : 1) S00ILO HDS SERGIIR, D0 1,2,3 Son 4 o i3 56 SERES Ddutod,
eé{&oq;&o&&m%msk&gm‘éaww 1 86n0,
2) D S SEREPBAVBL 1/4mu>&mangowﬁ’°&w'
3) OQF JEREPBBVLL Brtyen MBNIY. :
1) n(A)=200, n(B)=100, n(AUB)=25o<@@,5 n(AAB) = o,
If n(A)=200, n(B)=100, n(AUB)=250 then (VAN 2) Rl
1) 50 2) 100 . : 3) 200 4) 250
2) 3x-2y-4=00p Y @gﬂ@ig:&)‘f&oﬁ DO, evvrrnreeeeesinnns
The point of intersection:_‘._éf the line3x —2y —4 = 0 with Y axis is....... )
3) 66 —N6— i =i
1) 3 L2 -3 2 -2
1) A={1,2,34,5}B={a,b,c,d.e} oons Aol BS Aabite By (atre
L 308 ven.e g ¥
The number of :i)ijections from A to B iS...ccveveneeee.
1) 8.7 ) 2) 120 3) 25 4) 0
5)  (1+2) S0 (7+5v2) © T (e SoggEED .ovvvevee..
Geometric mean of (1++2) and (7+5v2) iS eoovvee.n....
1) 3+8 2) 3-8 3) 1+V8  4) None; 285

6) (8od FAS° DO ©d3#50; Which of the following statement is false
1) A-B=ANB' 2)A-B=A-(ANB) 3)A-B=A-B' 4)A-B=(AUB)-B

7) A,Ben Both Sr@8en; AB=B, BA=A ©wonds® A+B3=.................
If A and B are two matrices such that AB=B and BA=B thenA% B=.......

1) 2AB 2) 2BA 3) A+B 4) AB
e S ol S Lo SN O
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S |1 dogg o D
L log® 1 2 arenaensensans
o 2) 1 3) -1 4 2 log}
N v={-d By Y ogos® Josw o .
The angle which the straight liney = V3x -4 makes with Y asix is.......
1 o° 2) 30° 3) 60° 4) 90°
10) N =342y3 sans x‘+L‘= ................
X
. A o, 1
l If x=3+ V3 then\-k'—“" ................
i
1) ns&2 2) 1154 3) 1053 4) 1159
{
; . T2+x) I 8a
11D f(X) =loe | @0 G) = I —— =,
() =log 375 ) sovs (e 5 | a=) N
LN f@ 2) 2ia) 3 1@ 4 —fa)
12 SABAES
; 1) log;, 25 3) 1 45
E
13} A={1.3.5.7.9,11,13.15,17) B={2.4, ... 18} Sobas> DSB8 N
. (and Universal set is N) A'U((AUB)NBY)=..............
1
: N A 2) N 3) B 4) None; D8setH
141 A=(S.~1)B=(=2.3).AABC sosSoigo 0(0,0) scndS AOAC vosRoo.....
[£0O(0.0) is the Orthocentre of AABC, where A=(5,—1) B=<(-2,3) then
Orthocentre of AOQAC IS ....eeeeeccnnecnnnn.

1) 4,.-7) 2)3,-2) 3) (-2,3) 49 ©G.-1)
............... ; Father of Statistics iS.....cccccoeuenne.

1) Arther Caylay; 68558 2) Ronald Fisher, 5% D35
3) Rene Descarte; 338s°3 4) George Canter; er8sco5

Small transistors are used in............... ..... generation of computers
1) First; 3058 2) Second; Bo&S  3) Third ey 4) Fourth;a'?é @
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17) (pvq)=> r Q) (HBBBEC ......ooorrvverene
The contrapositive of (p v g) = r s ..ouerreesnenes

NPp=2(QVr) ) r=3(pvr) H~r=~(pAg) Y ~ =" PA~q

18) teRfreSet. ... aotraw; A Histogram consists of ...

1) Sectors; deoew 2) Rettarigles; &8 S&Be
3) Triangles; (Bgheen 4) ~_S(tin_a_i"es; SSB(Roen

19) . N 1’; 1
(3,3), (h,0), (0,k)en 5EHASmen oS i S e

o

R
— — == Leesscscssrece

4 mxm

21) & retd a‘gw z&va') ::bg«oo 7 20.5. ) Heodns® P_Y a
SrDdI&T é)a’née» $r00% (rodo HeNSFed......... _

4 eqnal CII‘OlCSzOf diameter 7 cm. are touching each other
i:the figure. Then perimeter of the shaded region is...........

2) 23 cm. 3) 4cm. 4)21cm.

If -—+b 3anda+g =2thenab=is ......... |

1) 32 2) 2:3 3) 1:2 4) 2:1
23) x Bw) 8% = y @) 4% @ovd X Aok 20% =
8% of x=4% of y then 20% of X is .................

1) 10%ofy;, y &%) 10% 2) 18% ofy; y &) 16%
3) 80%ofy, y@wE) 80% 4) None; DBso :
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24) w8 HF TFFGoR 100% 1oDS oo BEug0dt BBIOGL ... |
If the radius of circle is increased 100%, the area is increas

ed .............
1) 100% 2) 200%

3) 300%  4) 400%
25) R =R"! ®ansd R 2.8 %

If R=R" thenRis ... relation, - .-

1) Symmetric; ib"{éé

2) Anti-Symmetric; |58 D
3) Reflexive; ST &

4) ?'Tféfjjéitive; DdoESoes

26) AcB oood n(A-B)=........... : IfAc B thenn(A-B)=...........
1y A 2) B 4. 3)'D 4)0

-----------------

27) If a™" =a™.a" then (@aws) m(n-2)+n (m-2)=

1) -2 2) -3 3) 0 4) 1

& VaDEBe0H ‘5’ a8 Sareo wowd K=........
If5isaroot of the €quaﬁ°'flfl (" — (KI)‘X -10 = O then the value of K=....

Range of first ‘n’ even natural numbers is

1) n-1 2) n 3) 202 4) 2n-1
| 30) (ANB)S =ASUBE 6255 ......... gys».

(AnB)C‘_—_(ACUBC 1S wrecerereeenen. lawy, _
1) Idempotent O35S 2) Identity; S8y
3) {Cb‘rgjpl'ement; <) ado)] 4) Demorgans; &3?0;5

31) 1-10, 11-20, 21-30............ SBH06" 11-20 S50 BIOS €5
In1-10, 11-20,21-30............... are the classes of frequency distribution,
then the lower limit of the class 11-20 is ......coccueeae.
1) 10 2) 10.5 3 1" 4) 20

32) EoirgeaB HEPHTVD. evverrvrrenrense . Father of Computer .......uvveneas
1) Charles Babbage; 80 m‘éa 2) J.J. Sylnester; &.8. t‘«)sgs
3) Arthur Caylay; 68 s°8 4) Ronald Fisher; &'~ 35
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33) &8 S0 ABCD 855» at+h @i, ABCD $8:6: 25008 08
oo 1L SHYRo D) SREOE......on

The diagonal of a square ABCD is a+b. The perimeter of a square with
twice the area ABCD i ......oociveviiiinn

1) 2(a+b) 2) atb 3) 8ab 4) 4(a+b)

34) (808 TS KurodoHPHH ©8 KB Ko DOLD vevvraers
In the following, the nearest point from:the Origifl is ...........c...ccc..

1) @-93) 2) (5,0) 3 @ -1) 413
35) A={1,2,4} B={2,4,5} C={2, 5}90»:) (then),(A -B)x (B-C)=............
l 1) {12, (1,5). 25)} 2) {1 4)} 3) (1,4) 4) @
I

36) &% (Bbavo f:C—C, f(x)-x e 5365663026 TR L
A function f:C > Cis deﬁned as f (x)=x*-1
then £1(8)=...oooo..... SRCE
1) # 2)12  3) 43 4) +4

The points (3 '2’) (=3,2), (O h) are vertices of an equilateral triangle if

h<O then the‘vaiﬁe of h=
1) 2+J" 2) 3+2\3 3) 2-3V3  4) None; D8z
38) ’2‘ Eh & G TR 6, (x>0) BONS X G0 DS ...,

X X X
The fange of 532 is 6, (x>0), then the value of x is

..............

1) 8 2) 16 3) 24 4) 32

5
39) [l.,. xlogi‘.] D3Bed® 35 S50 1000 wans x =
X

g
If the third term in the expansion of [ +X g"’] is 1000 then x=
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41)

42)

43)

44)

45)

46)

1) & 2) 3) 0 4) {@}
—_— O 30 8 G
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b + Ve, Ve +Va, Va + b e S Eeet ok

abCe. i, B8S* aoirow,
If Vb +ve, Ve +a, va+b arein H.P. then a,b,c are in ............
1) AP;o0¥38 2) G.P; Koeal38& 3) H.P.;Wé&é@& 4) None; dbe*t
a=| b x*2 2l YS SBY wo0d B X = ..o

2x-3 x+1 .
If A= e ic matri ’v"*""tl’ =

=l 2x—3 yup| iSSymmetric marx NN X = ovoverrerrrannes
1) 2 2) 3 o) 4 45
f(x )‘ 3 oo fofof(3) ‘ T easnerinsissanes
If f(x)= 3§+4 then fofof(3
1) 3

1
-
111 Ry & * _

1) [l l] = ¥ [; //] [2; };} 4) None; dOSXD
.9, (q,1), ( l,p) 06‘ ) (Beha Soldgrso SorodothP wand
p’ +q° +l-._.,..> ............

If the centr01d of trlangle formed by (p.q), (q,1), (1,p) is the Origin,
then p +q@ =,

1) 0 2) pq 3 2q 4 3pq
28 8008 SEPATPS Bantss Bothihen how Adbrie Hime ST

The number of circles that can be drawn through three colliner points in a plane is......
1) 0 21 3) 2 4)3

RBiodboo Bgdo K dd Sareko...........

Identity element with respect to intersection in sets is ........ N
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47) (HH0BoS® G Ktrwe KBS agaporen HBT.e
Who was the first woman matematician of the world?

1) Sakunthala Devi; $508er3D 2) Hypatia; Fre&e
3) Leelavathi; Derd® 4) None; dHS0

48) If 8A4B6=12, 12A3B9=36, 50A25B50=100 then (9003) 16A4B4=.......
1) 12 2) 14 3) 16 4) 64

49) TErRES Sopgd a’+b® T8 ¢’ +d’ Ok d<b<a<c ErHos®
@RS Va? +b? +c2 —d? DWBueiiierenenis :

3
Ramanujan’s number can be written as a +b® or ¢’ +d

and d<b<a<c then the value of \/a + bz rol—d? S

) 13 2) 14 ... 318 4) 24

50)

H
| 3) 5 4) 9 H

zomasmms&maaogamamm&

8 OB M SEIM DGARD, B%Ma.go&amoma

G0B1 5000 Dmstyen 20620 “Drayryed TResys, B 308 Sowo”
o3 05 55 og, DacbBoso JNG.

£ eousos DoRBE FoPpToBE §e5, eentomro
LS 300 388,5 Hayosooten.
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